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(hwq. npwd)
Ajnigtitnwyhts dwfuubiph nunbuwghnwlwi nwuwlwpguwl hnnywsdubph L
NN wpluwwnwupubiph wujwunwiutipp Swph
o o 632,000.0
wyr} pynud
|nigbnwiht Swfuubinh b uLGhnuyWY NWULGWNGUWY «CBURENh &
|ohunieyniutitinh 2huwpwpnipiniu» hnndwdny 76,800.0
1,1 |g. Yhpwugh hwdwjupwiht Yauwnpnuh Yunnignud 38,400.0
p. "Hihowuh Fuiunw pwunwdwuh Jwuwwwpunbgh yepwlwnnignid
1,2 Junwppwlwt nwpngh 38,400.0
2 ' 530,000.0
2,1 |p. holwth Gphrnwuwpnwlwt thnnngh Ybpwunpngnid 38,400.0
p. holwuh Utinwnwqgnpdutiph pwnwdwuh dwlwwwnphh & wpnwpht
2,2 |opwhbinwgdwt hwiwlwpgh Yapwunpngnud 38,400.0
p. holwuh houwlywl thnnngh (Uwhdwuwnpnipjwt hpwwwpwlhg dhugl
2,3 |Unipp Uuindwidwdht bytintigh) yapwunpngnid 48,000.0
2,4 |p. houwuh phy 5 nupngh Jtipwunpngnid 28,800.0
2,5 |q. Swudwpwnh nwpngh Ytpwunpngnid 28,800.0
2,6 |q. <nyph hwdwjupwiht YEuwnpnuh Yepwunpngnud 19,200.0
2,7 |g. Unwyuwywuph nunpngh Yyapwunpngnid 28,800.0
2,8 |p. Ptpnh wphbunwgnpdwlwu nwpngh Yapwunpngnud 38,400.0
2,9 |p. Ptpnh Uwgwingh thnnngh Ybpwlwuqunud 48,000.0
2,10 |q. 2nppwuh nwpngh Ytpwunpngnd 28,800.0
2,11 |q. Lwyniph hwdwjupwjht Yeuwnpnup JEpwunpngnud 38,400.0
2,12 |p. Lnjtidpbipjwuh phy 2 nunngh Ybpwunpngnu 28,800.0
2,13 |p. Lnjtidptinjwuh Ywpngwlwuttph thnnngh tpwunpngnud 28,800.0
2,14 |q. Pipnwdwuh nwpngh Yybpwunpngnud 28,800.0
2,15 |q. Nuybdwuh nwpngh Jtipwunpngnid 28,800.0
2,16 |p. thihowuh <nyyugbinh ghnwtgdwt watuwwnwuputiph wywpunnw 11,600.0
2,17 | 19,200.0
s s puuwhungiut ‘
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